Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER 1/2 — « EXAMINATION - SUMMER 2016

Subject Code: 320026 Date: 04 -06-2016
Subject Name: Surveying
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q.1 (@) Define Surveying. Explained the principles of surveying with neat sketch 07
usl 1w Adeell carvall AU ATttt Ruuicl gl WA AxedlD 09
(b) Differentiate between (1) Map and Plan (2) Plain scale and Diagonal scale 07

ol dslelct AW (1) o152l Ml Wellol () ULEL Bt wA (Asul Bt 09

Q.2  (a) Listthe instrument used for Chaining with their uses. 07
Ysl. 2 w Aol M2 quRldl Ultelle(l aEl Aot GuNN A& RO 09
(b) Draw neat sketch of 20 m chain showing all necessary details 07

o 20 Ml wsa €3] Aell (AAY ol vldldln 09

OR
(b) Define scale. If R.F.=1/300 draw a plain scale to show 33 mon it. 07
ol B ofl catvaul UL ol AR, Ag = 1/300 &l Al Al ALEL FBA 09

E1RL. Aetl UR 33+l {u galdl astaLn

Q.3 (a) Explain the term Base line, Check line and Tie line with neat sketch. 07
sl 3 3 BLUR WAL, AL UL Al Lol L UEL eRMALG[A A AHAAD 09
(b)  Define contour. State uses of contour. 07
ol AR ulle{l cautvall AL Aot GUAN wRUALD 09

OR
Q.3 (@) Differentiate between (1) Fore Bearing and Back Bearing, (2) W.C.B. and R.B. 07
Usl. 3 A dslald AU )R ARDL ua umn ARaL0(R)myElgd ARoL ua 09

gdule ARal

(b) State characteristics of contours with sketches. 07
ol AU o]l clal@ s qUgld A el 09
Q.4  (a) Listvarious accessories required for plane table survey with their uses. 07
sl ¥y W AHUR Adeel Hizell Aluolloileltd wal  GuAamseuLcll. 09
(b) Explain Temporarily adjustment of Dumpy level. 07
o srflAad ol Ul AHA%et{l Al UHAD 09

OR
Q4 (@) State advantages and disadvantages of plane table survey. 07
sl ¥ W AHUR Aol SIAEL Wal R $LAERAD s cll.O 09
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Define Levelling, B.S., F.S., I.S., Change Point, Reduced level and Bench mark
Aatcllon,n ol A, . R, As. WA, Rauced (Clogmuial

GUBRAA dclRQsot ofl catvaul .

Calculate RL of all points. Apply usual checks.

Station BS IS FS HI RL Remark
1 2.10 100.00 On BM
2 1.45
3 1.05
4 0.55 2.66 Change Point
5 2.35
6 3.90
ol Aetl oLl o (elg wloll WAt GAY WA %3R3 el Al
Station BS IS FS HI RL Remark
1 2.10 100.00 On BM
2 1.45
3 1.05
4 0.55 2.66 Change Point
5 2.35
6 3.90

(1) Convert the following W.C.B. to Q.B. or R.B.
(1) 52°15° (2) 150°30° (3) 235°45° (4) 315°0°

(2) Convert the following F.B. to B.B.
(1) 66°15° (2) 170°30° (3) 283°45°

(1) ollAetl Yelgd ARl A gdute ARarusel.
(V) UR %W (R) U0 230’ (3) 33U “¥U’ (¥)3aU °0’

(2) o{lAetl A3 AR A usl ARoL HiFC
(1) 55 %AW (R) 190 30’ (3) R¢3%¥W’

OR
The length of line measured with a 20 m chain was found to be 2500 m. Calculate
the true length of the line if the chain was found to be 10 cm long at the begging of
work and 30 cm short at the end of work.

20 Hloll Aisn Asll Yo cotie sl stalsll A3 1 10 AL Bedl
cioll scll. wal 512l olt 2 30 AL Fecll A ol Yo dols sl B2cll
gsloscll. ol al Alsn a3U00 Hl. Bedmid? HIwRjmslal dl ALY R

aw(lostal.o

(1) Convert the following whole circle bearing into quadrant bearing.
(1) 42°30° (2) 242°45° (3) 267°15’ (4) 352°30°

(2) Convert the following quadrant bearing into whole circle bearing.
(1) N 70°15° W (2) S32°15’E (3)) S 70°15° W

(1) ollAetl Yelgd ARl A gdute ARonusl.

(1) ¥R %307 (R) ¥R 2¥U (3) 25V %W (¥) 3uUR °30°
(2) o{lAetl A3 AR A usl ARoL HFCL

(1) G 90°AW U () € 3R°15° Y (3) € 9O°W U

*khkkkkhkhhkkkkik

212

07
09

07

09

07

09

07

09

07

09



